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Note : First 15 minutes time has been allotted for the candidates to read the question paper.
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General Instructions :

(i) ~ All questions are compulsory.

(i)  This question paper has two sections ‘A’ and ‘B’,

(iii) Section ‘A’ contains 20 Multiple Choice Questions of 1 mark each that have to be answered

- on OMR answer sheet by darkening completely the correct circle with blue or black ballpoint pen.

(iv) After giving answer on OMR answer sheet, do not cut or use eraser, whitener etc.

(v)  Section ‘B’ contains descriptive type questions of 50 marks. -

(vi) Total § questions are there in this section, |

(vit) In the beginning of each question, it has been mentioned how many parts of it are to be attempted.

(vii1) Marks allotted to each question are mentioned against it,

(ix)  Start from the first question and go up tg the last question. Do not waste your time on the
question you cannot solve. | |

(x)  If you need place for rough work do it on the left page of your answer book and cross (X)
the page. Do not write any solution on that page.

(xi) Draw neat and correct figure in the solution of a question wherever it is necessary,
otherwise in its absence the solution will be treated incomplete ang wrong.
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1. Do all the parts : | o 12
D
(a) The height and the diameter of the basﬁf a right circular cone are 48 ¢m and
28 cm respectively. Find the volume of LﬁEcnne. 2
N
(b) Find the HCF of the 96 & 404 by the prime factorization method. 2

(c) Find the co-ordinates of the point dividing the line segment joining the points
(-1, 7) and (4, =3) in the ratio 2 : 3.

N | [
D
l v
(d) Ifsina =% and cos ff= 7, then find tht::‘glue of (a+ f). 2
o
(¢)  Find the distance of point P (6, 8) from tHe origin. .
P .cntA-cnsA-,_ cosec 4 -1
(f) TOVE “cotd + cos A~ cosec A + I 2
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2. Do any five parts : 20
a) The 17"t fan A.P. ‘ - ' :
(a) c erm of an exceeﬁts 10™ term by 7. Find the common difference. 4

(b)  Find the roots of the equation \Rux? + 7x + 54/3 = ¢
- ) 4

(¢) D isapoint on the side BC of &angle ABC such that ZA4DC = ZBAC. Prove that
CA%=CB x CD. 4

(d) A quadrilateral 4BCD is drawn to circumscribe a circle. Prove that
AB+ CD=AD+ BC, 4
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if the median of given frequency distribution is 28.5, then find the value of ‘x’ and
(¢) ¢
‘y'. (Given n = 60)
Mo
i 0-10 | 10=20 | 20-30 30—-40 | 40-50 | 50-60
Class interval -
nN)
Frequency 5 Xood 20 | 15 y 5

(@) ]
(f) 12 defective pens are accidcntly(gixed with 132 good ones. It is not possible to

just look at a pen and tell whether it is defective or not. One pen is taken out at

“andom from this lot. Determine the probability that the pen taken out 1s a good
) 4
n
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3. A fraction becomes 3 when 1 is subtrﬂ;ed from the numerator and it becomes % when
-l

8 is added to its denominator. Find the g)lctiﬂn.

OR

A plane left 30 minutes later than the scheduled time and in order to reach its destination

1500 km away on time, it has to increase its speed 250 km/hr from

its usual speed. Find
the usual speed of the plane.,
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Two poles of same height are standing on either side of the road, which is 80 m wide. From
a point between them on the road, the angles of elevation of the top of the poles are 60° and
30° respectively. Find the height of the poles and distance of the point from the poles. 6

OR
From a point on the ground, the angles'jbf elevation of the bottom and the top of the

tower fixed on a 20 m high building are 45:’ and 60° respectively. Find the height of the

tower. 6
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s A wooden toy was made by scooping out a hemisphere from each end of a solid cylinder

as shown in the figure. If the height of the cylinder is 10 cm and its base is of radius

22
3.5 cm, find the total surface area of the toy. [Use = 7) | 8
)
S 18
(N 3.5¢cm
=
10 cm
Y
e 3.5¢em
h
OR

A solid is in the shape of a cone standing on a hemisphere, the radii of the cone and

hemisphere are equal and its measure is 3 cm. If the height of the solid is 6 ¢m, then find
the volume of the solid. 6
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